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Translation in English
Sub: Agricultural Economics (Part-11) (EC-601)

Instructions:  Attempt all questions.

Q.1

g oA w N PN

A W N Pow

Answer in detail (Any Two)

Explain the advantages and disadvantages of irrigation.

Explain the concept of land holding. Explain the reasons of small size of land
holding in India.

What do you mean by agricultural labour? Explain the reasons for the
increase in numbers of agricultural labor.

What are the experiences of Green Revolution discuss appropriate strategies

in this regard.

Answer in brief (Any Three)

Provide information about Intensive Agriculture District Program.
Explain in detail the crop insurance scheme in India.

Explain in detail Employment Guarantee Scheme.

Explain the Mechanization of agriculture.

Explain in detail the poverty situation of agricultural laborers in India.

Write short notes. (Any Two)
Sources of Irrigation

Types of soil erosion
Multiple cropping pattern

Modern agriculture
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